NCL -Written test for the Post of Technician Fitter (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020, SET A

Section A (Question no. 1 to 70)

1. | Type of reamer used for reaming operation in blind | RS gl A URISSU UfhaT H IUTNT fhT S a1t
hole? IRFSE® BT UGR F15?
A) Straight fluted reamer A) YT ATcliged uRkfess
B) Left hand spiral fluted reamer B) ST4 g1 &1 Afdd Aigad URfSs®
C) Right hand spiral fluted reamer C) alfe~ g1 &1 afta Arciige uRfegs
D) None of the above D) SRIad & ¥ &5 ol
2. | Which of the following is an artificial abrasive? Fafafed o 9 oF 1 Te $HEY uuv® g2
A) Aluminium oxide B) Emery A) Tegdiag Jqgs B) P UR
C) Diamond D) Corundum C) BRI D) PREH
3. | At room temperature, plain carbon steel contains: | T ATIHM U, TG BT+ ST H FRATQrd gidl
A) Ferrite and cementite ? I
B) Ferrite and pearlite A) WE‘C’ 3R ?ﬂﬁE’E{E
C) Pearlite and cementite B) Tse AR tl?ﬁ%'c:’
D) Ferrite, pearlite and cementite C) Udise 3R HiHemge
D) BRTSE, Uaiige 3R HHerse
4. | Dressing of grinding wheel refers to: YT Th DI QIR I aTedd o:
A) Restoring of cutting action of wheel A) I & PpIe &1 fobaT Y F8Td BT
B) Shaping of the wheel B) Ih I THR ST
C) Making wheel concentric with axis C) T P & &b 1Y Hchfod T
D) Changing the wheel D) I Feal
> | Galvanized iron refers to iron coated with: STl et § I, Tl T — SRR
A) Tin B) Zinc A ?ﬁm B) Tﬂﬁaﬂ
C) Chromium D) Germanium 9 D)
6. | The shape of rasp cut file is: TR PTHPR______ Bl el
. INECaIC B) TUCT
A) Triangular B) Flat O afef et D) T
C) Half round D) Round
7. | A standard Hacksaw blade of 300 m length has 375 | 300 TieR Tid AH® BRIl =S H 375 Sid aid o
teeth. What is the classification and type of set of | s &1 FifhRUr 3R YHR FT 27
blade? A) HEH, EER el
A) Medium, wave set B) HH, Tiafka Ie
B) Medium, staggered set Q) SFT gaka e
C) Fine, staggered set D) Wg, HIR Ae
D) Fine, wave set !
8. | A fit designed as 30H7/g6 is a : Ta fthe Sl fds 30H7/ g6 & =T | URSIeud bl AT
A) Clearance fit B) Transition fit epeaais |
C) Interference fit D) Tolerance fit A) TITERE fihe B) ¢S fthe
O) SRBI ftbe D) SIeRd fthe
9. | Narrow and thin part of the file which is connected | BIgd 1 Gb1vl 3R Udar BT ol 65 4 5] gidl
to the handle is known as: 8, P 8 I
A) Tip B) Point A) fea B) @WISC
C) Edge D) Tang C) T D) &1
10. | One degree equals to: T St & RS gl g
A) 60 seconds B)60 minutes A) 60 UHS B) 60 i e
C) 100 seconds D) 100 minutes C) 100 Vb D) 100 fiFe
11. | Two trains of equal length are running on parallel lines | GHM dalg @I &l ¢ GAM G=M T 46 fbdt / Hel

in the same direction at 46 km/ hr and 36 km/ hr. The
faster train passes the slower train in 36 seconds. The

length of each train is:
A) 72 m B) 80 m
C) 36 m D) 50 m

3R 36 Bt / deT ot g F THIER Y@eh W I
gl §1 a9 o7 ¢l 39 & 36 Vb W UR HR It
%lmaqﬁr«imfa‘ﬂﬁ:

A) 72 Hie B) 80 HIeX

C) 36 Hiex D) 50 Hiex
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12. | What is the average of first 95 natural numbers? Ugdt 95 Wﬂ'@ﬂﬁﬁ &1 3Mgd T gRI?

A) 50 B) 48 A) 50 B) 48
C) 49 D) 51 C) 49 D) 51

13. | An ore contains 25 % of an alloy that has 90 % | U SRR® o 25% &y e1g T o H 90% el gl
iron. Other than this, in the remaining 75% of the | 9% 3[@M@], UV 75% 3AXH H dlal ol 81 60
ore, there is no iron. How many kilograms of the | falum & WIeT U 1 & forg fpaq fpaum
ore are needed to obtain 60 kg of pure iron? 3P DI HTAGHT BIT?

A) 250.67 kg B) 270.6 kg A) 250.67 T, B) 270.6 f&.7mI.
C) 266.6 kg D) 300 kg C) 266.6 fH .7, D) 300 f&.3I.

14. | A towel when bleached was found to have lost | T qiferar oid UefTierd a1 ST @ df SUP! dlelg
20% of its length and 10 % of its breadth. The | BT 20% 3R TISTS BT 10% & B T g1 AFBA H
percentage of decrease in the area is: S BT Ufa=Id I
A) 28% B) 10 % A) 28% B) 10%

C)20% D) 22 % C) 20% D) 22%

15. | A man walked diagonally across a square ground. | T 3{TGH! U ofl HaM | [d®UH &U ¥ dadl g
Approximately, what was the percentage saved by | &Rl TR AT T@®R THT fobaT U= Ta &
not walking along the edges? CEIN
A) 20% B) 15 % A) 20% B) 15%

C)30% D) 12 % C) 30% D) 12%

16. | If the length of diagonal of a square is 20 cm, then its | T Th T &b fJBUl I Tals 20 I 8, T ST

perimeter is: ufATg 18RI ?
A) 141.4 cm B) 56.56 cm A) 1414 94T, B) 56.56 .HI.
C) 28.28 cm D) 40 cm C) 28.28 9., D) 40 .H1.
7.1 First tap, second tap, third tap differ in their: wH <, faeit 2u, gt <o et g1l
. A) 9 HR A B)cU e |
A) Thread size B) Tape lead O s g d D) S TR &
C) Thread pitch D) Type of thread

18. | If the perimeter of a right-angled isosceles triangle is | ¢ TABI FAGETE AYST Bt TR (4v2+4) Tt
(4V2+4) cm, then length of hypotenuse is? 2, O Bl B daTS R BRI
A) 4 cm B) 5cm A) 4 9. B) 5 4.

C) 6 cm D) 2V2 cm C) 6 3. D) 2v2 ¥

19. | In a drill bit angle between chisel edge and cutting | TH %ﬁ A Bt B YR 3R BT fog & g foe
lip is known as : DI for g AT J ST ST 82
A) Lip angle B) Rake angle A) fera ®ior B) Y& WHIUT
C) Web angle D) Helix angle C) a9 PIUT D) efred ®iur

20. | For a power hacksaw blade, pitch means: gaR %WT e At sram ol % :

A) Number of teeth per 10 mm A) gidl oI I&=a1 ufa 10 B
B) Number of teeth per 20 mm B) <idl & T=AT ufa 20 fart
C) Number of teeth per 10 cm 0 <idl &t = Uy 10 9
D) Number of teeth per inch D) <idi ) e ufy S

21. | Shaping of grinding wheel to make it run | GHU Tk Pl DR <1 dlih d el & AT Albigd
concentric with axis is called: Td o, HEardl o
A) Dressing B) Truing A) SRIT B) €31
C) Balancing D) Glazing C) STARIT D) %ﬁm

22. | What is the function of part “Pilot” provided in the | 7R & UgH T 7T YT "UrIIe” &1 HIM &1 gidl
reamers? e
A) Finish concentric holes A) Sifdh e fesgl &1 afvesamor
B) Removing chips B) fared gem
C) Hold in tap wrench ~ D)Hold in machine spindle Q) TRI BT YHAT D) HRH gﬁ I UHAT

23. | A left hand screw advances in which rotation: WW ¥ Sffac H I9d B &

. : . A) U8l & 3TET B) US! ot fauia fa=m
A) Clockwise B)Anticlockwise O feft aft foam A D) SIRIE & ﬁé &
C)Any direction D) None of above
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24. | A drift is used for : fge &1 v fog ford febar Smern 3 -
A) Drawing drill location A) {$0 R 57 o forg
B) Removing broken drill from work B) &<l g ¥l @l &rd @ ger & fou
C) Removing the drill from machine spindle C) 7f ot 48 | fgd ot g & ferw
D) Fixing chuck on machine spindle D) W= & W = ufigIoE & e
25. | The process of beveling the end of hole is called: | g & 3id DI YaUMH B Bt UishdT D! T Hgl SITcl
A) Counter boring B) Reaming &
C) Spot facing D) Counter sinking A) Tfd-ae= B) I
C) Wic BRI D) RiGp-T-
26. | Cyaniding and Nitriding are two methods of : IIEATRIST 3R AReRfET el P & :
A) Hardening B) Case Hardening A) BTSHTT & B) $9 Bl &
C) Tempering D) Normalizing C) TR & D) ARAATSHT &
27. | The rolling contact bearing are known as: AT Picde SR B AT A Y ....... TH Y ST 1
A) Thick lubricated bearing gl
B) Plastic bearings A) TieT q@%ﬁ‘s RN
C) Thin lubricated bearings B) WiTRed SR
D) Antifriction bearings C) Udel gfsides aaiT
D) Ufefthar s
28. | Gun metal is an alloy of : &I [T Y 41 8 :
A) Copper, Tin and Zinc  B) Copper, lead and Zinc A) didT, feT iR o B) did, T IR ST
C)Lead, Zinc, Nickel D) Tin, Zinc, Nickel C) i, S, fiere D) fe=, s, fiere
29. | Purpose of die nut is to : SIS ¢ 1 I 1 3:
A) Cutting new thread A) T4 IS BT
B) Improve surface finishing of thread B) 9IS ! g URTHRUT H JUR
C) Chasing and conditioning damage thread C) &faTd 'S B ST th EIEL
D) None of the above D) SWRIF H A Bls gl
30. | Thread plug gauges are used to check : S T 15T T IUFNT T Sfi= %’;‘ forg fovan <t e
A) External thread B) Internal thread A) STER1 IS B) 3fidRe oS
C) Shaft D) Hole C) =M D) BId
31. | What is the tap size for an internal thread of M12 | 1.75 & TR M12 & 3HiaR® IS & [T U SMHR
with 1.757? ERUCHUE
A) 10 fa . B) 13.75 fast.
(C)10.25 mm D) 12 mm ) o C
32. | A NO-GO plus gauge is used to check which of the | = — Tt @R 7iof %1 U FHfARId | 9 fhad!
following? S & forg farar i 82
A) Lower limit of hole B)Upper limit of hole A) fog @t Fae S B) f&s o1 UL T
C) Tolerance D) Deviation C) Tfgrar D) fa=reH
33. | The cutting fluid used while cutting aluminium is: | TegHIIH Hled HI IGAN fod1 S dTal dhic
A) Air jet B) Ethanol %d 1 )7
C)Kerosene D) Water A) TR S B) '&'?-FTTE
O Pt &1 dd D) UMl
34. | The vernier scale of calliper has 50 divisions which | SR & af-tR bd | 50 Sdler € off 49 T=HA
coincide with 49 main scale divisions. If each main | ¥bd fSeH & WY TS WId € | Tl TS &
scale division is of 0.5 mm, then the least count of | Tpd fefawi 0.5 Bt &1 7, A IR ﬁﬂﬁ@f GE]
the vernier is: et @ gt
A)0.1 mm B) 1 mm A) 0.1 . B) 1 fa .
C) 0.01 mm D) 10 mm C) 0.01 A, D) 10 {4,
35. | Which of the following is an example of indirect | FHfRAaH T ?ﬁ? T 3TTE P10 AU & SUHRT

angle measuring tool:
A)Bevel protractor
C) Combination set

B) Bevel gauge
D) Marking table

EEREIS]
D) 3{&h dferdpT
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36. | Which of the following parts in file is not hardened | 2@ ¥ FHfIRad # ¥ S A1 YT HoR 3R TS
and tempered? To! lan?
A)Heel B) Edge A) BId B) Tyl
C) Body D) Tang C) Srel D) &1

37. | The range of surface finish value R, Roughness | Tdg URSHId A R, T&fdT IS TT N6 &I 3ol
Grade Number N6 is : gt
A)25 ym B) 8 um A) 25 HHT. B) 8 AHT.
C) 0.8 um D) 0.1 pm C) 0.8 HH. D) 0.1 7.4

38. | An oily floor should be cleaned by which of the TS il BRI 1 YR&M ePehivl A gieiad 5 9
following for safety point of view? T gRI A% fovan ST @i e?
A)Cotton waste A) HUN U I
B) Putting water B) Uil ST
C) Putting saw dust or sand C) SRIGT 1 ¥ STAH
D) Spraying carbon dioxide D) HTe SSHINIZS PT fFeHd B

39. | Tool chatter is caused by which reason? <A Y SIS @i fdad R BI 67
A)Small clearance angle A) BIcT faqaey Siur
B) Excessive clearance angle B) 3 e’y diur
C) Small rake angle C) BICT XD DI
D)Excessive rake angle D) 3AfdH Y HIUI

40. | What is the angle of prick punch used for witness | Teft fag & forg vgea e da o 1 62
mark? A) 90 f&3ht B) 60 fui
A)90 degree B) 60 degree C) 30 f&h D) 20 f&Ut
C) 30 degree D) 20 degree

41. | An observer 1.6 m tall is 20V3 away from a tower. | 1.6 HicX &9 Udde&d I clar I a3 20v3 HEIR
If angle of elevation from his eye to the top of | IT®! 3@ ¥ cfaR & WY W IQY HIvr 30° g1 <
tower is 30°. The heights of the tower is: TR P S o
A)21.6 m B)23.2m A) 21.6 HicR B) 23.2 HicxX
C)24.72m D)20.3 m C) 24.72 HiR D) 20.3 HicX

42. | If a tiger is 50 of its own leaps behind a deer. The | Tf¢ TP XU & YIS U ST9 37U Qg I 50 DA
tiger takes 5 leaps per minutes to deer’s 4. If the | g&t W 81 919 Uf fiFe 5 Tai Aar 8 iR R
tiger and deer cover 8 m and 5 m per leap | Ufd fFIT 4, Afe o9 3R fERUr HaT: 8 Hiex 3R 5
respectively, what distance will the tiger have to | Hiex Ufa T@HT gt 99 Hd &, Al R0 B Uds1 I
run before it catches the deer? Ugd a9 P favait gal ad R giiT?
A)600 m B) 800 m A) 600 Hiex B) 800 HicR
C) 700 m D) 1000 m C) 700 Hex D) 1000 Hiex

43. | The angle of elevation of the top of the tower standing ﬁ'g; AT AT dAd R "@l@; TR & IAY DI o Bl
on horizontal plane from point A is o. After walking a | 2fgqy & QT BT 3R ¥l ‘d "IeH & 916, Sl HIT B
distance ‘d’ towards the foot of the tower, the angle of ol ST %I TR Pt é’,mg %:
inclination found to be p. The height of the tower is: A) d/ (Cot o + Cot p) B) d/ (Cot o - Cot )
A) d/(Cota + Cotp)  B)d/(Cota-Cotp) )d/ (tan o - Cot B) D) d/ (tan « + Cot p)
C)d/ (tan o - Cot B) D) d/ (tan a + Cot B)

44. | The included angle between flanks of metric thread is: | i@ U & Wid P &g DT HIU GHIR &:
A)45° B) 60° A) 45° B) 60°
C) 90° D) 85° C) 90° D) 85°

45, | From the top of a hill 100 m high, the angles of | 100 Hiex Sl UgTSl & Y W, TH TWHH & HUX
de}gression of top and bottom of a pole are 30° and | 3R 2 & 3faHIG &b IV HA: 30° 3R 60° §
60" respectively. What is the height of the pole? W Pt ST i 82
A)50 m B) 52 m A) 50 Hiex B) 52 HIcx
C) 66.67 m D) 33.33m C) 66.67 HIeX D) 33.33 Hie}

46. | Which of the following is not a tool? fafafad 0 ¥ oF e SUHRU 81 87
A)Curved file B) Hand file A) F68 HId B) 38 I3
C) Flat file D) Box file C) T B3 D) SR BIsd
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47. | The size of an engineer’s vice is specified | SO-AR AT P THR [hADH AR fAfey giar
according to which of the following? e
A)Length of the movable jaw A) TTia=fd St & daTg
B) Width of jaws HEIEIEISH
C)Height of vice C) IR DI Sy
D)Maximum opening of jaw D) Sl &1 Sfwad Ja-T

48. | Which of the following device is used to pull | FERIRET T T B T IUHRUT SHH & HUWR HRT
heavy loads along the ground? HR Wiem & forg IuanT fasan Siman 87
A)Cranes and sling B)Winches A) % 3R T B) fd=r
C)Layers and rollers D) All of these C) A 3R A D) 4 g+

49. | Which of the following cannot be used for taper | TR 11 & forg Fafefd 7 3 frge Iuan T8t
turning? forar < g 82
A)Compound rest method A) IS S WXe fafd
B)Form tool B) BIH ¢l
C) Tail stock offset method C) ¢d i HIhyc fafe
D)None of these D) 390 ¥ BIs gl

50. | If tan” a= 1-¢”, then the value of sec a + tan” a. i tan’a = 1-% @l sec a + tan® a. Cosec o BT
Cosec o is : T &1 gRIT?

A)(@2-&)'? B) (2+e 2)”2 A) (2-¢)'" B) (2+¢%)'?
C) (2+€?)° D) (2- ¢H)*? Q) (2+e?)? D) (2- €%)*?

51. | Typical locating device used as jigs and fixtures for | RifcisR®d g & forg forg ok fhaer & ®u |
cylindrical job is : IUINT fh oI aTelt TRy desfe feargy T 87
A)Drill jigs B) Mandrels A fa formg B) AUgeH
C) V-Block D) Angle plate C) [d-sdi® D) TTd Wi

52. | Three measuring jars have the capabilities of 15 | < ATOH a1 SR @1 & 15 e, 50 et 3R 30
ml, 50 ml and 30 ml. what is the least capacity fach %I ?Ifl?ﬂ:r &HdT | % o faddt +f fea g
which can be perfectly measured by any of the | ATUH gIdl &R gRI PUKRE J AT 57 Gept 32
measuring jars? A) 100 B) 75
A)100 B) 75 Q) 150 D) 450
C) 150 D) 450

53. | A hall is 15 m long and 12 m broad. If the sum of | T® BId 15 Hicx ddT 3R 12 HicR Arel 5| G BRI
areas of the floor and ceiling is equal to the sum of | 3R Bd & &F%d BT AT IR SldR] & AT A B
areas of four walls, the volume of the hall is in m® is: | gRT P RTR 2, ) BT P 3dd m> | 81 :
A)720 B) 1200 A) 720 B) 1200
C) 900 D) 840 C) 900 D) 840

54. | What is the weight of water contained in a conical | JBTHR gd4 & Afed UL BT aoH =T IR IS
vessel which is 21 cm deep and 16 cm in diameter? o9 BT TERTS 21 9. IR AT 16 A B 2
A)1.246 kg B) 2.480 kg A) 1.246 &, B) 2.480 f 7.

C) 3.875kg D) 1.408 kg C) 3.875 f . D) 1.408 f&am.

55. | A spherical ball of lead, 3 cm in diameter is melted | ¥ & Th MAGR 3 AH. AN @ Tig DI
and recast into three spherical ball. The diameter of | frg@eR diH MareR g & yAHRHG far smar 31
two of these are 1.5 cm and 2 cm. what is the | ST 9 I TN 1.5 A, 3k 2 At g1 T i
diameter of third ball: BT Y &7
A)2.5cm B) 3.6 cm A) 2.5 It B) 3.6 Tt
C)1.2cm D) 0.9 cm C) 1.2 9t D) 0.9 9

56. | The dimensions of a cuboid are 7 cm, 11 cm, 13 U 991 & MM 7 94, 11 A, 13 I gl
cm. The total surface area is: $dl g BT AADHA T GRIT?

A)311 cm? B) 622 cm’ A) 311 912 B) 622 Y712
C) 430 cm? D) 1002 cm? C) 430 12 D) 1002 Y. 2

57. | What is the SI unit of temperature ? YA &1 TY 35 ShTs H1 67
A)Celsius B) Kelvin A) Sfcag B) Pfca
C) Fahrenheit D) All of these C) BRAGIRC D) I gt
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58. | High carbon steels are machined using tools having: | 3= ®e- Wied U8 ISR HT IUART RSP

A)Negative Rake angle a=ftierd fhT SI1d & foraT:
B) Small Positive rake angle A) Tfed Y& BT B
C)Large Positive rake angle B) ©IcT UIiSiied Yo Il gl
D)Zero rake angle C) S18T Gififed X I 81

D) X X BIUI &I

59. | If the cutting speed is 20 m/ min, what is the Tfe wTe B Tfd 20 Hiex / fiFe g, @ 20 AL %T’[
rotational speed required for a 20 mm drill bit? fae & o sawas U}'ﬁﬂﬁ T gRIT?
A)120 rpm B) 320 rpm A) 120 3RUTH B) 320 3(RUITH
C) 400 rpm D) 160 rpm C) 400 3RUTTH D) 160 3{RUTH

60. | The point angle in general purpose drill bit is: = Wt fod fae | fofg 11 gidl &
A)108 degree B) 90 degree A) 108 f&3it B) 90 f&Ut
C) 118 degree D) 60 degree C) 118 {3l D) 60 f&3t

61. | In a grinding wheel 51A 46 L 13 B, 13 & B | U U¥UITch 51 TW46 T 13 A1 |, 13 3R off SHhH:
represent respectively: afd &

A) Dense type structure and resinoid Bond type A) T9 TR Bt TR 3R IS Jis UPR

B) Soft type structure and resinoid abrasive material B) R UBR B T 3R IRFISS uaes uerd
C) Soft type structure and resinoid Bond type C) TRH YbR Pt T 3R IRFISE dis USR
D)Dense type structure and vitrified Bond type D) U9 bR 1 T 3R ﬁ’;ﬁ'ch_ls_er IS ISR

62. | Morse standard taper is available in numbers from: | A A& TR b1 T3l & IUa B
A)l to7 B)1to 8 A137 B)1 8
C)0to 7 D)0 to 8 Q097 D)0Y 8

63. | Included angle between flanks of Acme thread is: | TgH 3 & Tidh & ard QAT DI §

A)60 degree B) 90 degree A) 60 f&Ut B) 90 f&t
C)45 degree D) 29 degree C) 45 TS D) 29 f&tt
64. | The dimension of a nut is expressed in terms of: T ¢ P1 ATH fobd T H oad foar ST g ;
A A e & MY
)Head of the bolt ~ EN
B) Core diameter of bolt B) Siee PR T &
e T Q) diec & SffHifgd A= o
)Nominal diameter of bolt D) dlee % o g
D)Pitch diameter of bolt )

65. | The half included angle of Morse standard taper is: A A% <R 1 3¢ Ifaferd ®IoT 8-
A)3 degree 15’ B) 3 degree A) 3 ST 15' B) 3 f&ht
C) 3 degree 55’ D) 1 degree 29’ c) 3 fsilt 55 D) 1 f&ht 29!

66. | Which statement is correct about GC 20 A 7 EP St 20 W7 —&&ﬁ YN[ Th & gR A DI T HYT gt
Grinding wheel? &7
A)Abrasive material used is mixture of A and WA | A) SEIATA Pt I aTelt 3o Jrft 1 fgor U
B) Grade is soft, Grit size is not fine and abrasive 3R g

is green silicon carbide B) I8 R ¢, Fic 3R dle =g 8 iR srqade
C) Grade is soft, bond type is metal and abrasive is e Riferp i ®refse &
green carbide C) U8 RU B, 1S UPR YT T MR TeNH
D)Grade is hard, Grit size is not fine and abrasive mafgg %
is black silicon carbide D) IS H3R &, fiIe 3R Jie gl § 3R suods
Pl Rt w1afgs §

67. | Which of the following is used for holding pipe of | FfaRea & § fhaeT IuanT 63 fAHY. § 31fd® 3R
diameter more than 63 mm and up to 200 mm? 200 .. 9 o9 & UIgU B UH s & forg
A)Pipe Wrench B) Pipe Vice ST 27
C) Chain Pipe Vice D) All of above INCIELREE] B) UTSY d13y

C) I UZy arsq D) SWRIed ¥4l

68.1 45 degree is equal to how many radian: 45 fSU1 e ST & SRR &7
A)0.785 B) 1.57 8 2225 g)) 11%;

C) 6.28 D) 1.05 ' '
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69. | Lathe beds are made of cast iron due to following | AY 98 MARIEd HRUI Y H=aT el I FHAT ST
reason : &
A)lt is heavy A) T8 YR §
B)1It is cheap B) U8 T 8
C)High damping capacity C) 3= qHc &Hdl
D)It does not resist compressive load D) U8 HURIG HR T fadie gl Bl
70. | How many cubic feet in 12 cubic meter (approximately)? | 12 ° Hiex H fohd ¥ Wi (TTHT) Bld &2
A)424 B) 464 A) 424 B) 464
C) 536 D) 572 C) 536 D) 572
Section B (Question no. 1 to 30)

1. | In an examination, out of 480 students 85% of the | Ues Uiem H, 480 BHT H T 85% TSibdl 3R 70%
girls and 70% of the boys passed. How many boys | @Sd 3tiuf gU| afe W& H ot 75 Ufa=a Ttemeff
appeared in the examination if the total pass | JTiUl gU dl fran TSP WRIEM & SUMRIT §T?
percentage was 75%? A) 370 B) 340
A)370 B) 340 Q) 320 D) 360
C) 320 D) 360

2. | By selling a hard disk for Rs 475, a person loses | 475 ¥Ud | BIS (&% dadHR, U AlGd DI 5% @]
5%. To get a gain of 5 %, he should sell the hard | JHHH BTl 81 5% &1 @Y UH & fog, 39 T
disk for: fsw ﬁo_clgff S afee: A
A)Rs 500 B) Rs 525 A e il
C) Rs 535 D) Rs 575 €335% D)575%

3. | The average age of all the students of a class is 16 | T H&T BE ®I MGd A 16 Y gl TSHI P
years. The average age of boys is 21 years and that | 3figqd 3 21 g9 g SR Tsfepal ot 12 oy %’I i
of girls is 12 years. If the number of girls in a class | F&T A ASHAT B TBAT 10 B, T TSB! DI TS
is 10, find the number of boys. Jd Hﬁml
A)12 B) 8 A) 12 B) 8
O) 11 D) 4 Q) 11 D)4

4. | A Women introduces a person as the son of the brother | Wb AT Ush AfGd Bl 3Tt AT B lﬂé P del
of her mother. How is the man related to the women? At g1 Afger ¥ sufad o1 ey R 22
A)Son B) Husband A) T B) Ufdl
C)Cousin D) None of these C) TR/AHRI/ARR/FH D) 398 ¥ Bl T8l

5. | Which of the followings is not covered under Fafeled & O o siieF UiF fiwm o gitifea
operation Greens mission? ol forar mar %?

A)Onion B) Potato A) TS B) GiTQ
C)Tomato D) Ginger C) <HIcR

6. | Which of the following is a wildlife sanctuary in | FgfaRad o & @ mz: u%su d Td geila
Madhya Pradesh? 3UIRUY §?

A)Keoni Wildlife Sanctuary A) B3 Telg SHIRTY
B) Barnawapara Wildlife Sanctuary B) SRETATURT g-Ioid SHARTY
C)Bhimbandh Wildlife Sanctuary ) virsiYy g=aeia IHIRTg
D)Rajgiri Wildlife Sanctuary D) YGIFIR d=eild IHIRTY

7. | Covaxin is developed by: PR TP gRI [AHRI BT T 62
A)Bharat Biotech B) Cipla A) HRd SEICH B) et
C)Ranbaxy D) Novartis C) e D) Aiaricd

8. | World Health Day is observed on: fay Wy a9 oa T ST &

A)7th April B) gh April A) 7 30d B) 8 3%d
C)9™ April D) 10™ April Q) 9 30 D) 10 3

9. | Punjab and Haryana High Court declared which UOTe 3R gRAT0 3 ey H [ 41 &l
river as a living entity? Sifaa 3o ot fear g2
A)Sukhna B)Amrit Sarovar A) AT B) WIR
C)Kanjli D) Karna C) Horelt D) ﬁ
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10. | “Operation Namaste” is associated with: "R T foh g I dafd g2
A)Indian Army A) UG ST
B) Indian Navy B) YR AR
C)Indian Air Force C) YR arg J1
D)Border Security Force D) 191 YR&T &l
11. | Which crop is sown on the largest area in India? YRA H 96 98 &F W S Il had §l5 ol 67
A)Rice B) Wheat A) dldd B) ﬁE
C)Sugarcane D) Maize C) =T
12. | For which of the following disciplines is Nobel Todd RIR FHfaRda fr @r g fawg & forg fear
Prize awarded? ST 82
A)Physics and Chemistry A) Hifdet 3R T
B) Physiology or Medicine B) ftpforaratrot ar fafdean
C)Literature, Peace and Economics C) Tifg, ifar 3R 3rf=ma
D)All of the above D) SWRIgd It
13. | Whose creations are Harshcharita and KadamBari? | 4R 3R ®Icas! fbdd! T g7
A)Kalhan B) Panini A) HegUl B) IOt
C) Bana Bhatta D) Patanjali C) 91 Hg D) UdSifdl
14. | When the India launched Targeted Public YRd ﬁ e Qo [qaRuT Yol & R Bl ?
Distribution System? A) 1995 B) 1996
A)1995 B) 1996 C) 1997 D) 1998
C) 1997 D) 1998
15. | Panini was...... giiof g ...
A)a Greek philosopher A) T% T RIS
B)an Indian astronomer and famous B) U YR WG 3R Ufig T
mathematician C) afeeh BT HT TH TG HTHRI
C)a Sanskrit grammarian of Vedic times D) URIH &1 & AT &1a
D)great poet of ancient times.
16. | Which of the following is not a member of the fAfeiRed # ¥ & QRIUH 99 &1 Y a8l 87
European Union? A) U B) flFicis
A)Greece B) Finland C) A1 D) 1SS fireH
C)Norway D) United Kingdom
17. | Which river is also called Ganga of South? fory <7t @1 gferor o 7 off g1 o @2
A)Godavari B) Krishna INRIIAER] B) P _
C)Cauvery D) None of these C) Pradl D) 37H 9 B3 a1
18. | Which of the following newspapers was founded FafRad ® ¥ o THRR U3 $1 RITHT JgTel
by Mahatma Gandhi in South Africa in 1903?? et ¥ 1903 H GIérm 3ibichT | it of 2
A)Indian Opinion B) Harijan A) SfeT Siifufra= B) BRReH
C)Indian Speaker D) India News C) sfegd Wi D) Sf&ar ==
19. | Which space agency sends 104 satellites in a single | 2017 § {4 3idRel Toid! A Thd HRH H 104
mission in 20172 SUUE W ?
A)ISRO B) NASA A) SIRI B) =TT
C)Russian Agency D) China space Agency | C) ¥4I Toldt D) AT 3fafkes ol
20. | Who among the following received the Bharat Ratna EPINIEER] T fPg YRd & T[gtlﬁ[ g3 tl‘e'ﬁ
award before becoming the President of India? YR Id QDR Ut a2
A)R. Venkataraman B) Dr. Rajendra Prasad A) 3R, dhexa B) 1. Yoig TS
C)Dr. Zakir Hussian D) W. Giri C) S, SR Eﬂ:{ D) S&g, iRt
21. | Khasi is the main language of which state? T foh T XToT DT TERG TS &2
A)Mizoram B) Nagaland A) e B) IS
C) Meghalaya D) Tripura C) AU D) AT
22. | Mount Etna is a famous volcano which is located in? AREE TeAT U UG E‘Iﬂw T ol T %
A)Argentina B) Ttaly A) ST T B) STl i
C) Mexico D) Philippines ) tfRye & D) fopaiidia |
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23. | Which is the largest coffee producing state of YRA BT Yo 91 HIP] IATGH T DI 91 67
India? A) B B) AfAeIg
A)Kerala B) Tamil Nadu C) ®HeH D) 3SUTd TGl
C)Karnataka D) Arunachal Pradesh
24. | Where is the Tungabhadra sanctuary located? ST SHIRTY Fel (YA g ?
A)Madhya Pradesh B) Uttar Pradesh A) A TG B) 3TR UG
C)Karnataka D) West Bengal C) HHlcHh D) UigH sa
25. | Ram starts from his house and walks 4 km North, JT 30 W = Eﬂﬁ 4 fHHt IR H R 3
then 3 km West, then 8 km south. How many km forrft uftm, o 8 forrdt aféror fon & g@ran 81 @
away from his home was he? U R Y fhat QAR ?
A)6 km B) 7 km A) 6 fopdt B) 7 foit
C)5 km D) 8 km Q) 5 fopet D) 8 fosrit
26. | Which number is wrong in the given series? ARIES PICK] T I I G- T &7
1,9, 25, 50, 81 1,9, 25, 50, 81
A)l A) 1
B)25 B) 25
C)50 C) 50
D)81 D) 81
27. | Pick out the number with the smallest value: Fafafed o 9 g9 |1 $=I g -
A)007 A) 007
B)0.80 B) 0.80
C)0.33 C) 0.33
D)002 D) 002
28. | If South-East becomes North, North-East becomes | 3R Gf/0]-IXE STR & oIl g 3R STR-TXd TiEH
West and so on. What will West become? RESIG %I I ufSe a1 g 2
A)North-East A) STR-R
B)North-West B) STR-UMEH
C) South-East C) GI&U-RE
D)South-West D) Sfé&rr-uigs
29. | “Sputnik V” is a: "FCH® V" T §?
A)Coronavirus Vaccine A) HRFTIRRY IR
B) Geostationary Satellite B) e~ Yearge
C) Geosynchronous Satellite ) SR Iearge
D)Hantavirus Vaccine D) BCTaRRY JaiA
30. | Who is known as “The Saint of Gutters”? TR & Id" & U H T o1 ST 82

A)Baba Amte
B)Mother Teresa
C) Anna Hazare
D)None of these

A) SIS 3{THS
B) Hex o4l
C) 34T IR
D) 79 Y HIS el




